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13-­‐4	
  Law	
  of	
  Sines
Day	
  1

Objective:	
  	
  Solve	
  problems	
  by	
  using	
  the	
  law	
  of	
  sines.
	
  	
  	
  	
  	
  	
  	
  	
  	
  Determine	
  whether	
  a	
  triangle	
  has	
  one,	
  two,	
  or	
  no	
  solutions.

Area	
  of	
  a	
  Triangle:
A	
  =	
  .5bc	
  sin	
  A
A	
  =	
  .5ac	
  sin	
  B
A	
  =	
  .5ab	
  sin	
  C	
  

Ex	
  1)	
  Find	
  the	
  area	
  of	
  triangle	
  ABC	
  to	
  the	
  nearest	
  tenth.
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Law	
  of	
  Sines—does	
  not	
  require	
  a	
  right	
  triangle…works	
  for	
  any	
  triangle.	
  	
  

sin	
  A	
  	
  	
  =	
  	
  sin	
  B	
  	
  	
  =	
  sin	
  C
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Ex	
  2)	
  	
  Solve	
  Triangle	
  ABC.

A

C

B

9100

53
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Ex	
  3)	
  	
  Solve	
  triangle	
  ABC. Rule:	
  	
  If	
  the	
  side	
  opposite	
  the	
  angle	
  given	
  is	
  larger	
  
than	
  the	
  other	
  side	
  given,	
  then	
  there	
  is	
  one	
  triangle.	
  	
  If	
  
not,	
  then	
  there	
  are	
  2	
  or	
  0	
  triangles	
  formed.

A = 25
a = 13
b = 12


